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PAPER-4
Aptitude Test for Architecture

Mathematics & Aesthetic Sensitivity — Part A :
— PartB :

Drawing Aptitude

PART-A / ¥TT-A

Q. 1to 100
Q.1&2

MATHEMATICS & AESTHETICS SENSITIVITY / TIfUra 3R weafesr @fadifadt

ABCD is

001. a parallelogram. If the | 991, ABCD u% q@ﬁq g2 I A,B,C®
coordinates of A, B, C are (2, 3), (2, 4) frceTes (2,3), (2, 4)9 (0, _2)3} @
and (0, —2) respectively, what will the D i & fdsrics am & ?
coordinate of D.

A) x=2, y=-1
A) x=2.y=_1 (A) x=2, y
(B) x=3,y=-2 B) x=3, y=-2
(€) x=1,y=-3 © x=1, y=-3
(D) None of these (D) 3T ¥ =I5 &

002. If¥ 85 amounts to T 95 in 3 years, what | 002. 3fE I 85 1 fizem 3awi # X 9581 @
% 102 will amount in 5 years at the same 1027 5991 § 3H & X O fhsed
rate %? T BT ?

(A) 117 (B) 122 (A) 117 (B) 122
(C) 132 (D) 142 (C) 132 (D) 142
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x_9 _ x_9
003. If /l1+ =g, thanx=" 003. 3fe, /1+64—8,3ﬁ?ﬁxaﬂm@m|
(A) 15 (B) 16 (A) 15 (B) 16
(C) 17 (D) 18 € 17 (D) 18
1 1
004. Ifx+%=5, thenvalueofx2+1—2=?, 004. AR, x+5=5 @ xz"‘?:?, <l HIH
* AT -
(A) 21 (B) 23
© 25 O 27 (A) 21 (B) 23
(C) 25 (D) 27
005. The cube root of 0.00000729 is - 005. 0.00000729 =pT YHT T BT-
(A) 0.0027 (A) 0.0027
(B) 0.027 (B) 0.027
(C) 0.0009 (C) 0.0009
(D) 0.009 (D) 0.009
006. Find the value of x if 006. g <1+ %)Z[H'%]ﬁ?ﬁx‘cﬂ
33 \_[{4x T &= BIT-
<1+ 256>_[1+ 16
(A) 1 (B) 2
(A) 1 (B) 2
©) 4 (D) 3
©) 4 (D) 3
007. Which is the Term of 1280 in Series 5, 10, | 007-  #0f5,10,20,40, .cccccon.... 1 HH-J1 75
20,40, oovooeree ? 1280 27
(A) 7th (A) 7th
B) 10th (B) 10th
© ot (C) 9th
D ) '
(D) None of these D) FH E HIT
008. If (k—2, 2k +1), (6k + 3) are in GP, then | 008. QG (k—2, 2k +1), (6/ + 3) UTicat 2ot §
k=9 Bl Al kT T T BRI ?
(A) 2 (B) 7 (A) 2 (B) 7
©) 3 D) 6 ©) 3 (D) 6
4-DA] [3] [ PTO

aaaaaaaaaaaa



009. The 3rd term of a G.P. is 4. What will be | 009. TUTca® 2off &1 €T Ug 4 8 I O
the total sum of the first five terms of this oroft o6 Jo| 9ia UGl T AN AT EAT 7
GP? (A) 1024
(B) 1248 (©) 1368
(C) 1368 D) 1092
(D) 1092
010. TET=R 2oft 3, 18, 13, ........ ST -1 UG
010. Which term of AP 3, 18, 13, ........ 1s 787 7887
(A) Ay (A) A,
©) Ay ©) A
(D) Azz (D) A22
011. TuT=R 3oft 3, 15,27, 39.......... T -
011. Which term of the AP 3, 15, 27, 39.......... 92 543 WE © 132 3T B Y
ill be 132 han its 54th ?
v: be 132 more t :11'225 th term (A) 57 B) 92
(A) 57 (B) (C) 63 (D) 65
(C) 63 (D) 65
012. cos(tan ! x) ! & HLH W AT ITH BATI-
012. Evaluating cos(tan~! x) we get :— A) —= 1
(A) — 1 a J1+ %
v1+ x
i B) 1+x°
B) 1+x 1
1 (C) 2
©) 5 vI+x
V1t+x
D) 1
D) 1
013. ARCx,y,ze[-1,1]3H THR
013. Ifx,y,z € [-1, 1] such that
Y [ | sin‘1x+sin_1yz=37n,75>f,?'ﬁ
sin ! x+sin"lyz= 31 find the value of
2 > 2006+ 2007+ 22008_ 9
N y2007 N 9 X y ) 2006 y2007 4 2008
x2006 N y2007 N 22008 hl HE =T @TIT f
(A) 0 B) 1 (A) 0 B) 1
© -1 (D) V2 (© -1 ©) V2
4-DA] [4] [ Contd...
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_ 5
014. Evaluate tan{%cos T} we get — 014 tan{jcos g}aﬁw?ﬂﬁmwm
J3 o
3—J5
(A) —— 3-/5
A) =
J5+3
(B) 2 /§+3
B) >
© V2
©) V2
(D) 1
D) 1
at+tb 2 6 2
015. If s b]:[S g , find the value Th 2 6 2
a
015. afz|” = R P
5 ab 5 8
of aand b.
T <RI BIT-
(A) 4,5
(B) 2.4 (A) 4,5
©) 4,2 (B) 2.4
(D) 0,1 ©) 4,2
(D) 0,1
016. Simplify -
] 016. T hifou-
cos® sinB . sin® —cos©
cosH ) + sin6 . - . .
—sin® cos 6 cos® sin0 cos® sinB ) sin® —cos©
) cos O . + sin© )
|—sin® cos 0 cos® sin0
@) 1 0] Lo
11 A
| @ |
B
01 ®) 0 1
11 11
C
© -11] ()_11]
11
L (D) ]
D
(D) 4 5] |4 5
4-DA] [5] [ PTO



017. Find a matrix A, if - 017. 3=fe
2 3 3 -6
2 3 3 -6 A= = =l 1 Hfgsrd A
lhall=3 8 T A AT T~
[ 1 -9 [ 19
A
(A) -2 4] (),—2 4]
(1 —4] (1 —4]
B
(B) 0 2 ®) 0 2
1 1] 1
C
(©) —4 4] © |—4 4
(-2 -9 2 -9
D
(D)»1_4 ()_1—4
2
5 , x+a ab ac
+
o1 Iff()=x ba j—bz ZC i /0 018. ¢ f(x)=| ab x+b be @A
. X ab xb cz, X ” be x4l
a c x+tc
) s, £(x) 1 T AT EAT-
(A) 3x +2x(a +5b +c)
®) 24 a4 5) (A) 33+ 2x(a’+ b+ )
X X\ a
i , B) 2x°+ 4x(a’ + b%)
(C) 4x + 2x+ bx
i ©) 4x° + 2x + bx
D) 4x’+3x(a+ b+
(D) 4 x(a c) (D) 45 + 3x(a+ b+ c)
x—2 =3 x—2 —3 N
019. If =3, find the value of x 019. 3fg = 3,80 d x 1 AH A
3x  2x 3x  2x
1 il
(C) 4,2 ®) 3.3
o) (© 4.2
(D) 737
4-DA] [6] [ Contd...
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020. If from a pack of 52 playing cards, one | 020. 3fg 52 a& % Ucdl H | Ueh el forT A
card is drawn at random. What is the o THehTett SITaT B o TS A1 T S R
probability that it is either a king or TRkt &Rt ?
queen? 1

(A) 13
1
(A) 13 5
®) 13
2
B) 13
13 3
; © 3¢
© 3¢ .
| D) 35
D) 35
1
1 1— tan"22
1— tan’22~ 2 B
021. What is the Value of 5 % 021. 1+ tanZZZL 1 AT T E
1+ tan 225 2
1 1
(A) 5 (A) 7
1 1
B) —= 1
(B) N (B) 7
3 /3
©) B ©) T
(D) 2 (D) 2
022.  What is the value of 3 sin 20°— 4 sin320. | 022. 3 sin 20°— 4 sin® 20 3 HH AT AT ?
1 1
— A) 1 B) —=
A) 1 (B) 7 (A) (B) 7
3 /3
(©) 3 (D) 0 © - (D) 0
2 2
2, 2

023. Iftan’0 = 1—a  then 023. A tan’0=1-a
secO + tan’ 0 cosec O = ? sec® + tan’ O cosec O =T T FT BT ?
(A) (27 3)3/2 (A) (2— 3)3/2
(B) (2- a2)1/2 (B) (2- a2)1/2
C) (2- a2)2/3 <) - a2)2/ 3
D) 1 (D) 1

4-DA] [7] [ PTO
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024. The lines 2x — 3y & 3x — 4y = T are | 024, 3fg @12x— 3y 3N 3x— 4y =7 T ged
diameters of a circle of are 154 square T A ? 3 e 154 W2 B Y ed
its. A t f thi ircle i
LlIll_S n cquator o 1S CIrcie 18 1 H'Eﬁ T _E;T‘T[ (Tl: _ 22/7)
(m =22/7)
2 2 _
(A) x2+y2+2x—2y=62 (A x+ty +2x-2y=62
(B) x + ) +2x—2y=47 (B) X'+ 422y =47
(C) x4+ —2x+2p=47 (C) x'+y =2+ 2y =47
(D) X'+ —2x+2y= 62 (D) x"+y" 2+ 2y =62
d _ dy
025. What will be the value of —- if | 025 M x— y=mB A o AN A EAML
x—y=mn? (A) 1 (B) 3
A 1 ®) 3 (C) 1/4 (D) 12
©) 14 (D) 172 026. FRx=a (0 +sin0), y = a(l— cos0) B
d
d a
026. Find 5. , ifx=a(0 + sin 0), g T Em
vy =a(1-cos0). (A) sin?0
0
(A) sin20 (B) cos 5
0 0
(B) cos 5 (C) tan 3
(C) tan % (D) tan%0
D) tanZ0
®) 027. R LC+L=7, @ £ +L B AR
1 1 gm- 7 ¥
027. Ifx’+-5=7,then x’ + = will be?
X X (A) 38
(A) 38 (B) 29
(B) 29 (C) 18
©) 18 (D) 28
(D) 28
2
) 028. zIﬁaxz—l-bx-lrc=a()c—p),Tiﬁ?'ﬁa,b,
028. If ax’+ bx+ c=a(x— p),then, what ¢ T 1 GEY gATT-
is the relation between a, b, c? (A) > = dac
2
(A) b = 4ac (B) 2b=a+c
(B) 2b=a+c (C) b°=ac
2
©) b= ac (D) abe =1
(D) abc =1
4-DA] [8] [ Contd...



x Y xxy x Y 2xy
029. x_y+x+y+y2—x2 will be =? 029. 5+ e =7
(A) x+y (A) x+y
C) -1
© -1 ©)
Xty o5
D) — X+
X ty
. 1
030. 2sin0=x+ L, then 030. 2sin6=x+, e~
(A) x==x1 (A) x=+1
B) —1<x<1 B) —1<x<1
C) x=1 € x=1
(D) None of these (D) 3 | I3 &
031.  Ifx=tan 15° then what will be the value | 031, af% x = tan 15° @ »*+ 5 &1 WA @
2 1 —é'rn'_ X
of x + .
X
A) 16 ®B) 12 (A) 16 (B) 12
(C) 10 (D) 14 (C) 10 (D) 14
4 . 4 4 L4 4 . 4
032. If COSzoc + Sll’l2OL =1, then 032 cos a , SIn & _ 4y cos B + sin B
cos B sin'f . cos’B  sin’PB cos’o.  sin’a
4 . 4
COSZB N s.1n2[3 will be - T T FT BT~
cos'a  sin o
(A) 4 (B) 0
(A) 4 B) 0 |
| © g (D) 1
© % D) 1
033. 3Afg xsin36+yc0539 = sin0 cos O 3N x
033. Ifxsin36+yc0536 = sinB cosO & x sin sin @ = y cos 0 A9 x2 + y2 @ OH &
0 =y cos 0, then x2 + y2 =? BATI-
(A) 0 (B) 2 (A) O B) 2
C) 4 D) 1
©) 4 D) 1 ©) (D)
4-DA] [9] [ PTO



034. sin221 =2 034. sin 221 =2 =1 W B-

2 2
© P2 © P2
o PR o PR
035. (36— 2—4) its factors will be 035. (36— x—z) T UFETE AT -

(D) 6|x— % 6— %2 (D) 6 x—%z 6—%2)
036. Ifa2+b2+cz=ab+bc+ca,then 036. EIﬁaz-i-b2-|-c2=ab-i-bc-i-ca,ﬁ?'ﬁ
a + b’ + ¢’ will be equal to? a + b+ ¢ foraes ser g ?
(A) 3(abc )2 (A) 3(abc )2
(B) 3a’b’c’ (B) 307 b
(©) 3abe (C) 3abe

(D) None of these

(D) 378 ¥ HI3 Tal

037. In a school, there are 1000 students, out
of which 430 are girls. It is known that | 037. Tsh &l T 1000 BET T A 430 TSfHAT

out of430,' 10% of the gifls study in class 21 430 ¥ ¥ 10% Ishrat wem 9wg §
Sy e | e e e 6 st 7
given that the chosen student is a girl? BT ?

A) 3 ®) 1g ) 3 B) 1g

© % D) 3 © 5 ®) 3

4-DA] [10] [ Contd...



038.

039.

040.

041.

2
What will be the value of f X’dx after | 038.
1

evaluating it?
(A)
(B)
©)

WY AN D Ol

(D)

ﬂ:/4

What will be S v 1+ sin 2x dx?

0

A) -1

B) 1

© 0

(D) None of these

1

What will be the value of S xe dx?
0
(A) 1
L
B) 3
© 0

(D) None of these

1 3 2(]1

If[1x1]12 5 1(|2|=0,thenwhat 041.
15 3 2] |x

will be x?

(A) —lor—7

(B) —2or-14

(C) —3or-6

(D) —40or-10

039.

040.

(A)
(B)
©)

NN QAN D Ol

(D)

2
wwﬁmfxzdx 1 7 =T gITI-
1

n/4
S J1+ sin 2x dx? &1 9 =1 gATT-

0

A) -1

(B) 1

©) 0

(D) T8 | %18 T

1
Sxe*dxemmwgﬁm—
0

(A) 1
®) 3
(C) 0
(D) S & I3 TEl

I 32
2 51
15 3 2

T [1x 1]
& HH g7

(A) —1ddm—7
(B) — 27— 14
(C) —3qaT—6
(D) —47AT— 10

1

2 ZO,Tiﬁ?hx

X

4-DA]
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1 0 10 1 0 10
042. IfA= & 1= ,thenfind K | 042. 3afc A= & 1= , @ Kt
-1 7 01 -1 7 01
so that A2 = 8A + KI. II'I:[?II'E;’A2=8A+KI.
(A) -3 (A) -3
B) 9 B) 9
(C) -5 € -5
(D) -7 D) -7
2 -1 -1 -8 —10 2~ -1 -8~-10
043. If[1 0 |A=|1 —2 —5 |what | 043. 3|1 0 |A=|1 -2 =5 |d@
—3 4 9 22 15 -3 4 9 22 15
will be A? Al HHE-
3 2 -7] 3 2 -7
A) A= _
(A) 7 -4 2 (A) A -4 2
[1 —2 —5] [1 -2 —5]
B) A= _
(B) 13 4 0] (B) A 13 4 0]
(C) None of these (C) 3T ¥ hig &l
7—-4 0 7 -4 0
D) A= _
® [—2 6—2] (B) A [—2 6—2]
044. What will be the maximum value of the | (044. %aq f(x)=—(x— 1)2+ 2 on R &1 Afoerdayq
function f(x) =— (x — 1)+ 2 on R? T <=1 811 -
(A) 3 (B) 1 (A) 3 (B) 1
©) 2 (D) 4 C) 2 (D) 4
045. Find the maximum & minimum value of | (045. %ad f(x) = |sin4x+ 3| on R <A1 fereman
the function f(x) = |sin*x + 3| on R? T &1 BT1?
(A) Max -4 Min -2 (A) ATRAH — 4 =FaH — 2
(B) Max -5 Min -2 (B) 3Tferhad — 5 =—[AdH — 2
(C) Max -3 Min -1 (C) 3Aferehad — 3 =LaH — |
(D) None of these (D) ¥ ¥ Hig &l
4-DA] [12] [ Contd...
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046.  What will be the point of local maximum | 046, ®eH f(x)= x,/1— x, x >0 % fo1Q Stferepan
and local maximum value of the function TR 9 sifiean T T Brm-
fx)=xy/1—x,x >0

1 (A) Point of local max —x = % Local
(A) Point of local max —x = > Local 2,2
o) f max value ——5—
3
max value ———
D) (B) Point of local max —x= % Local
(B) Point of local max —x= 3 Local D)
max value ——=
max value — % 3/3
3 (C) Point of local max —x = %Local
(C) Point of local max —x = 5 Local 3 f
3 f max value ——5—
max value ———
1 (D) Point of local max —x = % Local
(D) Point of local max —x = I Local 4 /’
4 /_ max value ——5—
max value ———
047. 3R f2)=43R f(2)=1,4
047. Iff(z) =4 andf (2) =13 then find lim xf(z) 2f(x) - @Tn )
lim Y@~ ¥ x—2
x—2
X2 () 1 (B) 0
A) 1 B) 0 ) .
) ) (© 2 (D) & 5
©) 2 (D) None of these
, 048. IR f(x)=x"+2x+ 7, @A f3)FHAN
048. If f(x) = x"+ 2x+ 7, what will be £(3) 1 20T -
(A) 3 B) 5 (A) 3 (B) 5
(C) 4 (D) 8 ©) 4 (D) 8
= = [+3 -
049. Letf(x) = |x| and g(x) = |x3), then 049.  HFL/(x) = x| T g() = |, A
(A) f(x) and g(x) both are continous at (A) f(x) and g(x) both are continous at
_ x=0
x=0
(B) flx) and g(x) both are differentiable (B) flx) and g(x) both are differentiable
_ atx=0
atx=0
(C) flx) is differentiable but g(x) is not © f('x) 18 dl‘fferentlable but g(x) is not
differentiable at x =0 differentiable at x =0
(D) fix)andg(x)botharenotdifferentiable (D) fix)andg(x)botharenotdifferentiable
_ atx=0
atx=0
4-DA] [13] [ PTO



050. Letf(x)=(x+|x]|)|x|. Then for all x 050. ‘=I'I:|Tf(x)=(x+\x|)|x|.?ﬁ‘g>?'fxaﬂ%lﬁ—

(A) fis continuous (A) fis continuous

(B) f is differentiable for some x (B) f is differentiable for some x

(C) f'1s continuous (C) f'is continuous

(D) f& 1" both are continuous (D) f& 1" both are continuous
051. Hamayun’s Tomb is situated in 051. AT I Hehell hEl & 7

(A) Punjab (A) T

(B) Madhya Pradesh (B) HeA EERl

(C) Uttar Pradesh (€) e e

(D) Delhi (D) feeet

052. qA FH q el

052.  Architect B.V. Doshi Designed gﬂgzﬁ - - ﬁFﬂTﬁ:ﬁT? &

(A) IIT Kanpur (A) s, s, A, FA

(B) IIT Delhi (B) s, amg. A feedht

(C) IIM Ahmedabad () ITE. oTE. UH. IEHCE

(D) IIM Bengaluru (D) TE. 6. TAH. a—:—nﬁ-{a
053.  Who designed the city of Chandigarh? 053. =vere fraa fesga fomam o

(A) Edward Lutyens (A) TEaS @ﬁ'ﬂfﬁ

(B) Richard Rogers (B) fee 9"

(C) Le Corbusier (C) @ <RI

(D) Aldo Rossi (D) Teel T
054. Which stone is used in Dilwara temples? 054. fowmmn Af #9 & 9o § a R7

(A) Granite (A) RRlED

(B) Marble (B) W

(C) Sandstone © dee

(D) Kota ) el

055. ¢ H @ H AR Wi fREen

055. Major component of brick is Brar 27

(A) Silica (B) Nickel (A) Tafere (B) fierat

(C) Carbon (D) Magnesia (C) =1 (D) ETfafem
4-DA] [14] [ Contd...



056.  Which of the following is a flowering | 056, 1 ® @ % & Ug W A A 7d &7
tree? (A) 3@'—[
(A) Arjun (B) S IC
(B) Ashok €) I
(C) Teak (D) e
(D) Amaltas
057. TTH @ M &1 Ueh ohe AfGL 8 7
057. Which of the following is rock cut
temple? (A) et A
(A) Meenakshi Temple (B) el Helad Wiz
(B) Kandariya Mahadeo Temple © WTQI At
(C) Kailashanath Temple (D) fermarst wf2z
(D) Lingraja Temple
058. < mifetsr (ISHA) TR B E ?
058. The three primary colours are (A) &d, Hian IR de
(A) Red, Blue and Yellow (B) e, e 3N &
(B) Red, Blue and Green (C) &, et 3T T
(C) Red, Blue and Black (D) TS, T%e 3R e
(D) Red, White and Black
059. g, 9fE @1 fowar (TeEesE) S fh
059. The Extension of the Louvre, Paris, in the e funfie it 0@ =, fore fopam o ?
form of a pyramid is designed by (A) A A
(A) Eero Saarinen (B) 3TE. T, UE.
(B) L.M.Pei (C) W e
(C) John Utzon (D) 3 T
(D) Jane Drew
' 060. 3 9 H | M &1 fgTwres famee Hshe
060. Wl.nch of these does not form part of (R.C.C.) % Geivor o1 Tovean 7 e 7
Reinforced Cement Concrete?
(A) Steel (A) ‘v‘fl?f
(B) Sand (B) ®e
(C) Lime (C) wmen
(D) Cement (D) Hiiee
4-DA] [15] [ PTO



In questions 61-70, identify the logo and select | gog 61-70 & fo&r T& = <Al ugmm= o fa& o
the correct answer from the options below: foreredt # 9 T Iea? oA W
061. / / 061. /
(A) 1IBM (A) oTs. st .
(B) BSNL (B) . TH. . TH.
(C) TATA (C) T
(D) INTEL (D) e
062. FJ 062. FJ
(A) Facebook (A) W
(B) Firefox (B) BRITGHH
(C) Fiat (C) fore
(D) Fendi (D) %l
(A) Make in India (A) T 39 3l
(B) Jaguar (B) DI
(C) King Power (C) Tom Tmer
(D) WWF (D) &Y, T, Th.
(A) Adidas (A) TSE™
(B) Mahindra (B) #fg=gr
(C) Amazon (C) T|AH
(D) Avon (D) Wi
4-DA] [16 ] [ Contd...



065.

066.

067.

068.

069.

i
AN

(A) Surya
(C) Phillips

(B) Aadhaar
(D) ONGC

(A) Mitsubushi (B) Mahendra
(C) Masterchet (D) McDonalds

ca

(A) Chartered Accountant
(B) Council of Auditors

(C) Council of Architecture
(D) Chamber of Auctioneers

(A) Airport Authority of India
(B) Sports Authority of India

(C) Electricity Commission of India

(D) Audit and Accounts Commission

065.

066.

067.

068.

069.

i
vf\\ v
"@ A
(A) gl (B) 3R
(C) ffore| (D) =M. . Sf. =t
(A) freggst (B) #fewT
(C) UTE®® (D) Hehsicsd
CQ

(A) TES 3ThISee

(B) I ATH Affeed
(C) IR ATh ATfehear
(D) =TSR 3176 HiAH

AN

(A) TR e 1f% gfegan
(B) TUIH A 1% g
(C) 3Afaefirdt ftem =1t sfegan
(D) 3T TS ThTSHeH HIHIA

(A) Asian Paints (A) TREA
(B) Digital India (B) %Eﬂ?:a s
(C) Planning Commission () =i Hfir
(D) Smart City (D) e faife
4-DA] [17] [ PTO



070. &y b 070. &y h
BN BN
S % S %
Panral Panral
(A) State Bank of India (A) T2 & 36 3fegan
(B) Metro (B) #g
(C) Uber (C) SR
(D) Oriental Bank of Commerce (D) AU s 31 e
071.  Select the correct figure from the options | 071. foreheat o O foreft T 1 == L S I
to continue the series to replace the o= 1 aoft o |
question mark.
©)
D) {
4-DA] [18 ] [ Contd...
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072.

to continue the series to replace the

question mark.

Select the correct figure from the options

ol
v

&

(A)

©)

&

(B)

(D)

072.

o= <t ooft gt sam

forepcdt | @ forelt w1 =9 B S IH

E

(A)

©

E

(B)

(D)

ol
v

P

A
>/

A

B

073.  Select the correct figure from the options | (73, fyepeqt ¥ & fre) T 1 === Bt S T
to continue the series to replace the =3 H a'uﬁq;ﬂqﬁ'rm
question mark. I
m U
w2 U
: [ |/ ]
[ |/
() s ®)
() s ® | O <
© (D) %
olgl ® % =
4-DA] [19] [PTO



074. Select the correct figure from the options
to continue the series to replace the

question mark.

®
0

(A) Q ®) | .

©10O| ®|>g

075. Select the correct figure from the options
to continue the series to replace the

question mark.

ENNCBely
CIYNIYNE| -

B
(A) %% (B) é
©) 6% (D) %

NN

074. faehedi # @ forelt w1 == L S U9
o= 1 aoft it oy

(A) Q ®) |

©10O| ®|>g

075. faehedi ° © forelt U o1 == L S I
o= <t goft gt S|

é\/%ﬁB .
CIYNIYNE| -

& -F

|
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076. Select the correct figure from the options | 076. foreheat § O foreft T T 5= L S I
to continue the series to replace the o= 1 aoft it oy

question mark.

o
n
O
e

©) L

O
E
&

o 7%

077. Select the correct figure from the options | 077. foreheat § O Toreft U T = L S I
to continue the series to replace the o= 1 2oft gt s

gt i
| b
\ﬁ

i

(A)

N

© (D)

©

aljat
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078. Select the correct figure from the options | 078. foreheat § O foreft T T 5= L S I
to continue the series to replace the o= <t goft gt S|
question mark.
——= | = | == | T ?
— | = | = | & ?
. (A) =
(A) =
. ®) | =
(B) =
- © | T
€ | o
= D | —=
(D) .
079. Select the correct figure from the options 079. fachedt o & fepel T b1 == L T T
to continue the series to replace the fot <t aﬂﬁt@@m
question mark.
s o4
o o4
ypupe to|
T o | o |2
o | o |2
(A) 3— (B) ?
(A) $— (B) ?
O © |—@ (D) ‘
©) (D) _‘
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080. Select the correct figure from the options | 080.
to continue the series to replace the

question mark.

)
X

|| P

DI >

forepedt # 9 fordlt Tk o1 == L S U9
o= 1 aoft it oy

(d
% [&lo ?
?
©) J
o ° (A) | ‘ | (B) i
(A) | ‘ | (B) i
° °
° ° ©) | ‘ | (D) | | |
©) | ‘ | (D) | | |
081. fohedi # @ feret Teh T =@M L S T
081. Select the correct figure from the options et i gyoft 113?[ |
to continue the series to replace the
question mark. ofo
(OR K@)
0|0 OoO/N\Q
K[ ORRI8%
ORERE 0| of
A ( . ) | € . )| 4
dp|cxD| ?
i ( 5 ) ik
— — (A) ® ®B) |( 50 o)
( . ) (o o)
(A) © (B) 55
6 )
B ~ (C) (OQO) (D) (OvO)
© |6 19| o |CLO
O »
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082.  Write the missing numeral. 082.

(A) 14 (A) 14
B) 21 (B) 21
(C) 28 (C) 28
(D) 138 (D) 18
083. Write the missing numeral. 083. T TEAT AG Hi

(A) 3 (A) 3
B) 2 (B) 2
© 1 ©) 1
(D) 8 (D) 8

084. How many faces/surfaces does this object | 084. = & TS 9% % qdl hl A AT A
have? gl

(A) 12 (A) 12
(B) 10 (B) 10
(©) 13 (C) 13
(D) 15 (D) 15
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085. How many faces/surfaces does this object | 085.

have?
(A) 14 (B) 15
<) 12 (D) 13

086. The below diagram is the top view of an | 086.

object. Identify the object with the given
top view that cannot have the elevation

from the side of the arrow.

z

@ & & &

2

S

fr @ T 9%g & qoll hI pA TSI A
Xy

(A) 14 (B) 15
) 12 (D) 13

o for U 9% o W I T g &
T wTu forenedt @ @ 3Heh! 3ifeRd hifoTg STt

39 9% o fafed g Tl &l

z

@& &

2

S

4-DA] [25]
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087.

088.

The below diagram is the top view of an 087.

object. Identify the front elevation of this
object.

&
il
A
A

(A)
(B)

©)

(D)

L

L

How many triangles are there in this | (88.

figure?

XX

(A) 27 (B) 25

(C) 23 (D) 21

o o Uk 9% < U T g8 g &
& mu faehedl @ T A TR g9 H
g |

(A)

(B)

©)

(D)

L1 ]

EICRCRICREE AT RO

XX

(A) 27 (B) 25

(C) 23 (D) 21
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089. How many triangles are there in this | 089. Jra fea ™ o o fopae Brepior 2 2

figure?

(A) 23
(A) 23 (B) 27
(B) 27 (C) 29
(C) 29 D) 31
(D) 31

090. How many squares are there in the figure 090. = X A fpay @l § 2

below?

W 20 (A) 20
®) 13 (B) 13
© 2 (C) 24
) 17 (D) 17

091. How many squares are there in the figure 091. I o ) o o fopay ant € 7

below?

(A) 18 (B) 19
(A) 18 (B) 19

(C) 25 (D) 27
(C) 25 (D) 27
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092. How many squares are there in the figure | 092. = fed ¥ e d fpad a1 8 ?
below?
(A) 11 (B) 21
(A) 11 (B) 21 (C) 24 D) 26
(C) 24 (D) 26
093. The figure below is embedded in one of | 093. T4 ICEREX:N Teh frerea d gaifEa 31 w21
the four alternate figures. Identify it. foeren =1 fafga L)
B B
I I
[ L
1 1
A) [ A) [
[T [T
© | © |
s | | e I
)] o "L,
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094. The figure below is embedded in one of | 094.

the four alternate figures. Identify it.

(B)

©)

(D)

DM Dl 1S

095. Which of the following choices is the

exact mirror image of the main figure | (95,

given. (the mirror is on the right side of
the object)

| 5

w |H | ey \
ol Hl o\ K

yoq o= foreht ek faepeu o woifea 81 &&)

faehed =1 Tafea

Ny

(B)

©)

(D)

g o3 & g2 e’ gfdfers fog =61 ===

X

A

A

| (o1 or&q o 2fed BT hl TS )

(A)

©

/

:/

A

®) | =

(D) \
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096. Which of the following choices is the | 096, v fom o H&t edur yfdfers o= 1 ==H
exact mirror image of the main figure H| (9o I & TIfe &Y hl Th )
given. (the mirror is on the right side of
the object)

N
N
o[ @
o[ @
o o
oo
ar:
o] &
097. Identify the odd one. 097. faspedi § & firey ot =1 fafRa =)
AEEE | FERE
@& ® O O @ B  © D

098. Identify the odd one. 098. fasredi I & firy ot =1 fafRa =)

(A) (B) ©) D) (A) (B) ©) D)
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099. Identify the odd one. 099. faepedi o § =7 aTer o1 fafgd =il
RN 0 0 N - 0
RGO [ala]alo

(A) (B) ©) (D) (A) (B) (©) (D)

100. Identify the odd one. 100. Toepedl o @ =1 aret =1 Tafga &

(A) (B) ©) (D) (A) (B) (©) (D)
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